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The perimeter of the garden is the sum of
these distances,
5+9+8+4+3+5=34feet

Ravel needs 34 feet of fence.

Rubric

2 points for the lengths of all the sections;
1 point for reasonable work:

1 point for answer
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6.NS.8

SELECTED RESPONSE CONSTRUCTED RESPONSE
Select the correct answer. 4. Jerry and Meena are riding their bicycles
1. On a coordinate plane, point A s located through the city to meet at the park, as
at (-5, 3). To get to point B, move 8 units shown on the coordinate plane. On the
to the right, 6 units down, and 1 unit to coordinate plane, north is in the positive
the left. What are the coordinates of y-direction, and 1 unit represents 1 city
point 87 block. Jerry starts at the point (2, ~5)
y and rides north toward the park at the
5 point (2, 1). Meena starts at east of the.
park at the point (5, 1) and rides west
+ toward the park. How far does each
At person travel to reach the park?
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2. Whatis the distance between point A
at (=7, 5) and point B at (2, 5)?
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North is the positive y-direction on a
coordinate plane, and 1 unit on the plane
represents 1 foot. A soccer ball is kicked
directly east from point (-3, 4). The ball
travels a horizontal distance of 23 feet
through the air and rolls an extra 14 feet
Where does the ball stop?
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5. Point A'is located at (-3, 1), point Bis
located at (-3, ~4), and point C is located
at (3, 1) on a coordinate plane.

a. Whatis the distance between points
Aand B?

b. Whatis the distance between points
Aand C?
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6. Ravel wants to build a fence around his
qarden. The shape of his garden is
shown on the coordinate plane, where
each unit represents 1 foot. Use absolute
values to find the length of each section
of fence. How many feet of fence does
Ravel need? Show your work.

7. Jamie’s house is in the center of town, at
point (0, 0). He is doing some errands in
town and stops at the other four labeled
points on the coordinate plane. One unit
on the coordinate plane represents
1 block. He travels 4 blocks to his first
stop. His second stop is 7 blocks from
his first stop. He can only travel on the
sidewalks, which are represented by the
grid lines.
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a. Where did Jamie go first?
List all possible answers. Justify
your answers.
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b. Where did Jamie go second?
List all possible answers. Justify
your answers.




image5.png
6.NS.8 Answers

1.c

2.c

3.A

4. Meena travels |5 - 2| =3 blocks, and
Jerry travels |5 - 1| = 6 blocks.
Rubric
1 point for each distance

5.a. |1~ (-4)| =5 units
b. -3~ 3| =6 units
Rubric
a. 1 point
b. 1 point

6. Starting at point (-1, 4) and moving
clockwise to find each side length:
The distance between (1, 4) and (4, 4)
is |1 - 4| = |-5| = 5. The length of this
section s 5 feet
The distance between (4, 4) and
(4,-5) is |4 - (-5)| = |9] = 9. The length of
this section s 9 feet
The distance between (4, =5) and
(-4, -5) i |4 - (~4)| =8| = 8. The length
of this section is 8 feet.
The distance between (-4, -5) and
(-4, 1) is |-5 - (-1)| = |-4| = 4. The
length of this section is 4 feet.

7.a. Jamie went to city hall first. The
distance between Jamie’s house and
city hall s 4 blocks. The distance
between Jamie’s house and the
grocery store is 5 blocks. The distance

Jamie's house and the doctor's office
is 5 blocks. City hall is the only
location that is 4 blocks away.

b. Jamie went to either the mall or the
grocery store second. The distance
between city hall and the mall is
7 blocks. The distance between city
hall and the grocery store is 7 blocks.
The distance between city hall and the
doctor's office s 9 blocks. The mall
and the grocery store are both
7 blocks away. The mall and the
grocery store are the only possible.
second stops.

Rubric

a. 1 point for answer; 1 point for
explanation

b. 1 point for each answer; 1 point for
explanation





